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EZ2Y &ZF Fl 38,367 38,221 146
101 @124 dl 31,367 31,221 146
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O&=zH ZEH|2| 120,000 *10H x5 x33| 18,000
OXd=X & He H=2 HH 69,760 «x5H 5! 1,744
OHAL SHE EHID] 69,760& 5% 10 3,488
Oatsrz22 EHJ] & & 22l
69,760& x2% 20 2,791
OJMN2(FE)s5o & 22 g
69,760& 10 x10L 6,976
201 et Y| 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
OFA & JIE5Y 22 2,000
206 M = Hl 7,000 5,000 2,000
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O#N 2 254 2579 4,000
— M=l 400,000& +3CH 1,200
- TV 400,000 +7CH 2,800
02 =224l 33,581 33,210 371
03323 % HMA SHHA(RH, MI|, &dt
+ER=2 5) 17,880
QAL e AZHI(ER)
71323 %3.04 *10Al 2H*304 & %120 7,701
OA&ZEH SXH SHH & 3,000
OAdstE XHEH 2,500,000 »2CH 5,000
202 oddl 38,640 36,960 1,680
01 2Lhottl 12,240 12,960 AT720
OPMASER N4 8,640
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02 A Y| 26,400 24,000 2,400
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OIS R =& 40,000& x12H 480
04 EAN2IHRF=EHI 3,000 3,000 0
OFRN2IYR A 250,000& x12& 3,000
204 HR=HAH| 4,800 4,800 0
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